第十二次作業
2．（a）$A=\left[\begin{array}{lll}0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 1\end{array}\right]$

$$
\begin{array}{ll}
S_{1}=\left[\begin{array}{lll}
1 & 0 & 0 \\
1 & 1 & 0 \\
0 & 0 & 1
\end{array}\right] \quad S_{2}=\left[\begin{array}{lll}
1 & 1 & 0 \\
0 & 1 & 0 \\
0 & 1 & 1
\end{array}\right] \quad S_{3}=\left[\begin{array}{lll}
1 & 0 & 0 \\
0 & 1 & 1 \\
0 & 0 & 1
\end{array}\right] \\
S_{1}^{t}=\left[\begin{array}{lll}
1 & 1 & 0 \\
0 & 1 & 0 \\
0 & 0 & 1
\end{array}\right] \quad S_{2}^{t}=\left[\begin{array}{lll}
1 & 0 & 0 \\
1 & 1 & 1 \\
0 & 0 & 1
\end{array}\right] \quad S_{3}^{t}=\left[\begin{array}{lll}
1 & 0 & 0 \\
0 & 1 & 0 \\
0 & 1 & 1
\end{array}\right]
\end{array}
$$

$$
S_{1} A=\left[\begin{array}{lll}
0 & 1 & 0 \\
1 & 1 & 1 \\
0 & 1 & 0
\end{array}\right] \quad S_{2} A=\left[\begin{array}{lll}
1 & 1 & 1 \\
1 & 0 & 1 \\
1 & 1 & 1
\end{array}\right] \quad S_{3} A=\left[\begin{array}{lll}
0 & 1 & 0 \\
1 & 1 & 1 \\
0 & 1 & 0
\end{array}\right]
$$

$$
A S_{1}^{t}=\left[\begin{array}{lll}
0 & 1 & 0 \\
1 & 1 & 1 \\
0 & 1 & 0
\end{array}\right] \quad A S_{2}^{t}=\left[\begin{array}{lll}
1 & 1 & 1 \\
1 & 0 & 1 \\
1 & 1 & 1
\end{array}\right]
$$

$$
A S_{3}^{t}=\left[\begin{array}{lll}
0 & 1 & 0 \\
1 & 1 & 1 \\
0 & 1 & 0
\end{array}\right]
$$

$$
\begin{array}{ll}
A S_{1}=\left[\begin{array}{lll}
1 & 1 & 0 \\
1 & 0 & 1 \\
1 & 1 & 0
\end{array}\right] & A S_{2}=\left[\begin{array}{lll}
0 & 1 & 0 \\
1 & 0 & 1 \\
0 & 1 & 0
\end{array}\right]
\end{array} \quad A S_{3}=\left[\begin{array}{lll}
0 & 1 & 1 \\
1 & 0 & 1 \\
0 & 1 & 1
\end{array}\right]
$$

(b) $\mathscr{O}_{1}=\left\{\left(\begin{array}{l}0 \\ 0 \\ 0\end{array}\right)\right\}$

$$
\begin{aligned}
\mathscr{O}_{2} & =\left\{\left(\begin{array}{l}
1 \\
0 \\
0
\end{array}\right),\left(\begin{array}{l}
1 \\
1 \\
0
\end{array}\right),\left(\begin{array}{l}
0 \\
1 \\
1
\end{array}\right),\left(\begin{array}{l}
0 \\
0 \\
1
\end{array}\right)\right\} \\
\mathscr{O}_{3} & =\left\{\left(\begin{array}{l}
1 \\
0 \\
1
\end{array}\right),\left(\begin{array}{l}
1 \\
1 \\
1
\end{array}\right),\left(\begin{array}{l}
0 \\
1 \\
0
\end{array}\right)\right\} \\
\text { (c) } \mathscr{R}_{1} & =\left\{\left(\begin{array}{l}
0 \\
0 \\
0
\end{array}\right)\right\} \\
\mathscr{R}_{3} & =\left\{\left(\begin{array}{l}
1 \\
0 \\
1
\end{array}\right)\right\} \\
\mathscr{R}_{2} & =\left\{\left(\begin{array}{l}
1 \\
0 \\
0
\end{array}\right),\left(\begin{array}{l}
1 \\
1 \\
0
\end{array}\right),\left(\begin{array}{l}
1 \\
1 \\
1
\end{array}\right),\left(\begin{array}{l}
0 \\
1 \\
1
\end{array}\right),\left(\begin{array}{l}
0 \\
0 \\
1
\end{array}\right),\left(\begin{array}{l}
0 \\
1 \\
0
\end{array}\right)\right\}
\end{aligned}
$$

